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QUESTION 1
DRAG DROP

Traders hires you to write a Java program to manage account openings. To open a new account, a user must meet one
the following requirements:

be over 65 years old and have a minimum annual income of 10,000

be at least 21 and have an annual income greater than 25,000

How should you complete the code? To answer, drag the appropriate operator to the correct position. Each operator
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view
content.

NOTE: Each correct selection is worth one point.

Select and Place:

Operators Answer Area
|> | T |)= | T |== ||!= = ||= z - ?. — 555 3.“.”€ - N— ”:1gagg
age I 521 incame 25808) {
System.out.println{"Approved™);
1
else {
Syszem.out.println("Declined”);
}

Correct Answer:

Operators Answer Area

|> | % |>= | 11 A%

[
i
|
FS
)
n
A
b
-
a
o
"

B | &5 Liicows |5 [ 19000 | ||

age |’= J 21 B8 income |> 1 25008) {

erene. e
System. out.println{“Approved™);

}

elze {

Syszem.out.println("Declined™);

References: https://www.tutorialspoint.com/javal/java_basic_operators.htm

QUESTION 2
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The question requires that you evaluate the underlined text to determine if it is correct.

You should use an int data type to store the numeric value 3,000,000,000 (3 billion) so that the least amount of memory
is used.

Review the underlined text. If it makes the statement correct, select "No change is needed." If the statement is incorrect,
select the answer choice that makes the statement correct.

A. No change is needed.
B. a short
C. a byte
D.along

Correct Answer: D

QUESTION 3
HOTSPOT
You are interviewing for a job as a Java developer.

You are presented with the following code. Line numbers are included for reference only.

@1 char datal = 65;

82 Systenm.out.println(datasl);

83

B4 long data2 = E5;

B85 System.out.println(dataz)};

RA

87 float data3d = new Float{"-€5.8");
83 System.out.println(data3d];

23

18 short datad4 = new Short("65.8");
11 System.out.println{datad);

You need to evaluate what happens when the code runs.

Use the drop-down menus to select the answer choice that answers each question based on the information presented
in the code.

NOTE: Each correct selection is worth one point.

Hot Area:
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Answer Area

What happens when lines 01 and 02 are run?

The number 65 is displayed.

The letter "4 is displayed.

An exception is thrown.

What happens when lines 04 and 05 are run?

The number 65 is displayed.

The number 65.0 is displayed.

An exception is thrown.

What happens when lines 07 and 08 are run?

The number -G5 |s displayed.

The number -65.0 is displayed.

An exception is thrown.

What happens when lines 10 and 11 are run?

The number 65 is displayed.
The number 65 .0 is displayed.

An exception is thrown.

Correct Answer:

Answer Area

What happens when lines 01 and 02 are run?

The number 65 is displayed.

The letter ‘A" is displayed.

An exception is thrown.

What happens when lines 04 and 05 are run?

The number 65 is displaved.

The number 65.0 is displayed.

An exception is thrown.

What happens when lines 07 and 08 are run?

The number -G5 Is displayed.

An exception is thrown,

What happens when lines 10 and 11 are run?

The numhber 65 is displayed.
The number 650 is displayed.

An exception is thrown,

QUESTION 4
HOTSPOT

You work on a team that develops e-commerce applications. A member of the team creates a class named DB that
connects to a database. The class contains a method named query.

You need to initiate the DB class and invoke the query method.
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How should you complete the code? To answer, select the appropriate code segments in the answer area.

NOTE: Each correct selection is worth one point.

Hot Area:
Answer Area
DB db = v |
DB()
new DB
new DB()
v ;
db.query()
DB.query
query()
Correct Answer:
Answer Area
DB db = | :
DB()
new DB
new DB()
vl ;
db.query()
DB.query
query()

References: https://docs.oracle.com/javase/8/docs/api/java/lang/reflect/Method.html#invoke-java.lang.Object-
java.lang.Object...

Latest 98-388 Dumps | 98-388 Practice Test | 98-388 Braindumps

5/8


https://www.passapply.com/98-388.html
https://www.passapply.com/98-388.html
https://www.passapply.com/98-388.html

VCE & PDF https://www.passapply.com/98-388.html
2024 Latest passapply 98-388 PDF and VCE dumps Download
PassApply.com

QUESTION 5

HOTSPOT

You are writing a Java method.

The method must meet the following requirements:

Accept a String array named entries

Iterate through entries

Stop the iteration and return false if any element has more than 10 characters

Otherwise, return true

How should you complete the code? To answer, select the appropriate code segments in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:
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Answer Area

public boolean wvalidateEntries{String[] entries) {

boolean allValidEntries = true;

w | [String entry w  entries) {
do
for -
while =
instanceof

it (entry.length() > 18) {

ellvalidintries - false;

break:
continue;
goto;

rcturn allvalidEntricsg

Correct Answer:
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Answer Area

public boolean wvalidateEntries{String[] entries) {

boolean allValidEntries = true;

w | [String entry w  entriess) {
do
for -
while h
instanceof

it (entry.length() > 18) {

allvelidintries - false;

break;
continue;
goto;
¥
;
rcturn allvalidEntricsg
iy
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